

$$\begin{aligned}\tan(\pi - \alpha) &= \frac{\tan \pi - \tan \alpha}{1 + \tan \pi \tan \alpha} = -\tan \alpha \\ \tan(\pi + \alpha) &= \frac{\tan \pi + \tan \alpha}{1 - \tan \pi \tan \alpha} = \tan \alpha \\ \tan(\pi - \alpha) &= \frac{\tan \pi - \tan \alpha}{1 + \tan \pi \tan \alpha} = -\tan \alpha \\ \tan(\pi + \alpha) &= \tan \alpha\end{aligned}$$

$$\frac{-\tan \alpha + \cancel{r \tan \alpha}}{-\tan \alpha - \cancel{r \tan \alpha}} = \frac{r \tan \alpha}{-r \tan \alpha} = -1$$

$$\begin{aligned}\tan 45^\circ &= \cot 45^\circ \\ \tan \frac{\pi}{4} &= \tan 45^\circ = 1 \\ \tan 135^\circ &= \tan 45^\circ \\ \tan 225^\circ &= \tan(180^\circ + 45^\circ) = \tan 45^\circ = \cot 45^\circ\end{aligned}$$

$$\frac{r}{a} + \frac{1}{a} \quad \tan 135^\circ = -\tan 45^\circ = -\cot 45^\circ$$

$$-\frac{ra + 1}{a} = -\frac{1}{ra + 1}$$

$$\frac{\sin^r u + \cos^r u + \sin^r u - \cos^r u}{\sin^r u - \cos^r u} = \frac{r}{\sin^r u - \cos^r u} = r$$

$$\tan^r u = \frac{\sin^r u}{\cos^r u} = \frac{\frac{a}{r}}{\frac{1}{r}} = a$$

$$\cos^r u = 1$$

$$\begin{aligned}\sin^r u - \cos^r u &= \frac{r}{r} \\ \sin^r u + \cos^r u &= 1 \\ r \sin^r u &= \frac{a}{r} \\ \sin^r u &= \frac{a}{r^2} \\ \cos^r u &= \frac{1}{r}\end{aligned}$$

$$\frac{-\sin^r u + r \cos^r u - 1}{1 - \sin^r u - r \cos^r u} = \frac{r \cos^r u - r}{-\cos^r u} = \frac{r}{1}$$

$$\tan^r u = \frac{\frac{a}{r}}{\frac{r}{r}} = \frac{a}{r}$$

$$\begin{aligned}-r \cos^r u &= r \cos^r u - r \\ r \cos^r u &= r \\ \cos^r u &= \frac{r}{r} \\ \sin^r u &= \frac{a}{r}\end{aligned}$$

$$\begin{aligned}\cos^r \alpha &= \frac{1 + \cos^r \alpha}{r} = \cos^r \frac{\pi}{4} = \frac{1 + \cos^r \frac{\pi}{4}}{r} = \cos^r \frac{\pi}{4} = \frac{r + \sqrt{r}}{r} \\ \cos^r \frac{\pi}{4} &= \frac{r + \sqrt{r}}{r} \quad \cos^r \frac{\pi}{4} = \frac{\sqrt{r + \sqrt{r}}}{r} \\ \sin^r \alpha &= \frac{1 - \cos^r \alpha}{r} \quad \sin^r \frac{\pi}{4} = \frac{1 - \cos^r \frac{\pi}{4}}{r} = \frac{1 - \frac{r + \sqrt{r}}{r}}{r} = \frac{r - r - \sqrt{r}}{r} = -\frac{\sqrt{r}}{r} \\ \sin^r \frac{\pi}{4} &= -\frac{\sqrt{r}}{r}\end{aligned}$$

$$\sin^r \frac{\pi}{4} = \frac{\sqrt{r + \sqrt{r}}}{r}$$